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1. were fraaes bed fi/em Sewh AR e
1x8=8

Answer the following' / Choose the correct
answer :

(@) ©OR (IOl FRPAN T2
Which of the following is a regressive
tax?
i) EF /Income tax

- (i) TR F/Gift tax
. (i) R& ¥9/Sales tax
(iv) 7if& 9/ Wealth tax
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(2)

(b) IS IO
In indirect tax
() FIMOR I RS IF IR A
taxpayer bears impact only

(i) IR T IS WF oA TR
IH IR AWt

taxpayer bears both impact and
incidence of taxes

(i) ITTSR (P I SIS I IR 03
taxpayer bears incidence of tax only

(iv) IO I T WF Sropasy I
I I A=

taxpayer bears neither the impact
nor the incidence of taxes

() @R/ Wagner
@ v /Pigoy

(i) &%y Dalton
) G Taylor

8P/210
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(3)

(d) IR S el &2 |
What is horizontal equity of taxation?
(e) TR CFCH! PTFIAE TR A 7
Which of the following is not an
administrative revenue?
(i) A
Fees
(i) SR
Licence fees»
(iii) TR
Fine
(iv) ¥9
Tax

@) R @R R W AR S T2

Which of the following is not a method
of repayment of public debt?

() R Rl
Sinking fund

(i) T ¥
Capital levy

(iti) T
Conversion

(iv) TR 9
Value-added tax
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(4)

(9) GST3 i FCHl 32
What is the full form of GST?

() vt R wieaem sl =

The Chairman of the 14th Finance I’

Commission is
(i) SR, &

R. J. Chelliah

(i) . 3eRTE
C. Ra_tlgarajan

(i) Rew oem
Vijay Kelkar

(iv) *RI &G 7y
NOne of them

2. @R @
IESOF

Write short notes

on any four of the following !
(within 159 words each) - ‘ |

(@ R opg ey

WWWM(M 150 *
4x4=1%

Sourceg of Government Revenue
(b) ez Q]
Public Goodg
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(5)

(c) I Rke
Deficit Financing
(d) srRoE e e

Indian Finance Commission

(e} TE=A 4N Q™=
Burden of Public Debt

mmwm(m 500 * f$o9) :

Answer the following questions (within S00 words

| each) :

R el e wre feere
> ﬁmﬁm?%@mm{iWW| 2+9=11

i . Discuss the
fine public ﬁn_ance..
dDi?f:arences between public finance and

private finance.
_qe<1 /Or
el Re TR SwfRe e R

Ao I I

Explain the principles of ‘maximum
socl:;al advantage’ of public finance.

“ 11

3 B2 31 SORIPTR M ] | 2+9=11

What is tax? Explain the objectives of
taxation.

4. (a)
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(7)
(6)
5 RN I | WS
] SREN ¥4 IRFN ORI
/T /Or | 7. (a) - TR RE{RE S[CeRT | 8+3=11
(b) IR e RfRw T et e sz Explain the defects of Indian tax system.
W 37| 1 Give your suggestions to remove these
Explain the modern theory of incidence * defects.
of taxation with diagram. {7 /Or
S. (a) TSR SHR 99 AR 1 TR SHoyz 2 I () wmer tosa-yr TR FEW ICWHT AW .
e oot 6+6=11 CaEPTR ST 4 |
“Internal public debt is burdenless.” | iscuss the main features of India’s
Is the statemept correct? Give reasons. | g:;‘;n Budget for 2017-18.
Y141 /Or
* K K
.(b) mﬁwwmﬁﬁsvmm
IRemE SRR R sizame T 4+8=1
What are the main objectives of public
debt? Discuss the methods of repayment
of public debt. i
6. (a) memlmmﬁﬁﬁﬂ
RRR W 7y | 4+7=11
Ei‘;fifrl: (t‘ro‘;ernment Budget. Discuss the
Nt stages followed ; i
of budget ed in preparation
YRT /Or
b) =Y R R St MR r
Whii"%‘ W T 2+9=1)
at i .
objectivless cflfscf:‘al e Bxplain the
countries, c& Policy in developing : 3 SEM TDC ECO G 1
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